O10H o B 7
H X4 i 22 &4 (M)
10/2 =% WHTRXAEBRKRS 6,000
10/6 =%  AIATHARGMEEDS = 10,000
10/7 &% WRETEHES ERICELARILT ARG RS 8 & 7,000
9/26 HRE TR HREEEREHELCIZIDAEL—%T 15,750
10/4 M4 RAEN) B HHLE (24) 3,500
10/11 =% HERIERBDGHS EITERE S RV RBRS o' 5,000
10/12 FR4e t—ARSHEEL IO EER 10,000
10/13 A4 Jt— BT BEA CIZEIDEE—x%t 15,750
10/18 =% RAEL)IHGER =% 5,000
10/20 =%  FR-HHKGOSSBEOBRIRMS S 3,000
10/17 ¥i4% FEEFEH Y= ONCHHE 7 —if T #P0E (24) 3,500
10/22 % ALERBESWEEKEO)IEOVEKS =7 5,000
10/20 #la%s FKFERES HIOLE (24) 3,500
10/25 s —@An—&)—27 7 AINLE0AFELaM = 0 10,000
10/26 =% BHREPTABG I SABBERRES oF 5,000
10/27 &8 HERAWONCE T RAERSIEE S8 2,000
10/26 BRA WRH BEIRYITE ol RN AR CIZEDFE 10,000
10/29 R4 PIRHTEH3X BTN SR TICLOE LR 5,000
B &k 125,000




